MFM 1PI BEDMAS with Integers

Name:
Find the answer:

Level 1:




Level 2

B-0= 12-3= 50 +-5=
4-11= 1-11= i =
9+3= 5x-5= 2-4=
i 4x3= 2+7=
30+-6= 2+-1= 6+-11=
5+9= 7+-12= 11+-3=
-12-10= 11-7= 5x7=
48 +-12 = 9+ 10= O+2=
9x6= W, 6x-12=

100 + 10 = 12 +-4= R x 4=



Level 3:

Order of Operations (A)
Perform the operations in the correct order.
12357 & SEE f, S dof=g)
2. 9% (3+(-1)) 7 (=1)C2xCY) 12. 4 x (—1)?
3. —8—-5+4+(-5) 8. —10—2+(=2) 13. 942 — (-5)

4. —3+6+(-9) 9. —4+(—9)=(—-1) 14. 1 x 14+ (-9)






Level 4:

Order of Operations (A)

Perform the operations in the correct order.

. ((10+(-10))7)’ 6.9~ (10+(~2)—5)

2. 2% (=6) = ((—6) x 2) 7. (=1)" x (8- (=2))

3. (6—(~10)) +(4+(-2)) 8.5+ (=7)—(-3)+2

s (24+1) x6+(~9) 5. (=10) x (~1)— (~8) +4



Level 5:

Order of Operations (G)
Perform the operations in the correct order.
L5—(-5—(-7)+6-1) 6. (—4)x(-3)+(-7)+8-2
2. (-8—6)+2+8+(—10) 7. (=3)x (=74+6)—(2—(=7))
4 (_9)+(_1):—2f+2 8. —10+6+(—3)+(-7)=(-1)

4. 4+4%x9—6+(—6) G =AY



Level 6:

2

1. (—2+9+(—9)+(—1)m)

2. (6—(—4))+-10—(—10+10)=+10

5 (D -3

4. (4—(—6))=(—10) x (=3) x (1 =5)

5. (—8—(—4))=((—4)x1+((—2)x2))



Answers:
Level 1 Level 2

(-5) +(-4)=(-9) (-4) % (-7) = (+28) (#6)-(-2)=(+8) 8--9=1 12-2=14 50+-5=-10
3+ (+1)=(2) (-18)+ (-6)= (+3) () (+5)=(5) 4-11=-15 1-11=-10 Bx-1=-8
(-2) % (-T)=(+14) (+8) = (+3) = (+24) (+9) + (-3) = (+6) 9+3=12 5x-5=-25 2-4=-22
(#3)x()=(-3) H-(D=(3) (+6) +(5)=(+1) 9-6=-15 Axd—l2 shli=2
(-3)+(+9)= (+6) (-5) % (+43) = (-15) (=)= 30=-6=-5 Aal=3 Grzll=17
(3)%(+3)=(-9) (3)+(6)=(9) (+8)+ (9 =(1) Shil Lirilaeed Hd=t
(5) % (+5)=(:25) (-8)- (+6) = (-14) (D-(3)=(4) 121022 1l-7=4 I3
(+)-(9)=(+10) GHX(H)=(H) (A +(5)=(9) L 2 L
G9-(D=(¢10)  (9)+EH=(13) (+6)* (+3)=(+18) ARG =i e
N-(2)=(9) (42) * (4)=(8) 3+ (8H=(5) Tog<10=1b. e Rt

Level 3 Level 4

i :;?5—7 6 5:5(_1)4 1. 8=+72—(—3) i g}()_:(_m))v)z 6. :—lé10+(—2)—5)
i i L (;l)(?m(im * iﬁH)z 2 2% (-6)+(-6)x2) % (;i)lsox ®=~-2)
g R ou e L 5 (6= (~10)+ 4+ (-2) L
1 ;3jﬁa+(f9) . ;4;(—9)%(—1) 14. 1:x718+(79> . (:Zfz” X6 (—9) 9. (;llztl) x(=1)—(-8)+4
S ENEN (D) e THEAEEN s o) 0.1 (=3)x (-3+2)

-~

Level 5 Level 6



